MAT 1180, Reitz


Scientific Notation

1
Solve without using a calculator (you may use a calculator to check your answers).  Express answers in both scientific notation and decimal notation.
a. 
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b. 
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c. 
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d. 
[image: image4.wmf]  
(HINT: first convert both numbers to scientific notation)
2

As of December 2006, the national debt was $8.6 trillion.  At that time, the U.S. population was approximately 300 million.  If the national debt was divided equally among all U.S. citizens, how much would each person have to pay?
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